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SIK90A-SF | 5IK90GU-SF 90 3ph220 50 ZELECONT 1350 | 0.66 | 0.66 6.60 2.40 24.0 /
S5IK90A-53F| SIKO90GU-55F 90 3ph380 50 FELECONT 1350 | 0.38 | 0.66 6.60 2.40 24.0 /
51IK90A-DF 90 1ph220 50 PELECONT 2800 | 0.79 | 0.30 3.00 0.34 3.40 6.0/450
SIK90A-TF 90 3ph220 50 FELECONT 2800 | 0.83 | 0.31 3. 11 1.3 | 15.85 /
SIK90A-TSF 3ph380 50 ZELLECONT 2800 | 0.28 | 0.31 3.11 1.03 | 15.95 /
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ﬁ';ﬁ % E E % timin | 500| 417| 300| 250| 200| 166| 150| 120| 100| 83 | 75| 60 | 50 | 41 | 37 | 30| 25 | 20| 16| 15| 12| 10| 8 | 7.5

50Hz i 5B Nm | 155|186 | 258 | 310| 3.87 | 464 | 465 | 581 | 698 | 837 | 840 | 10.5| 126|151 | 168 | 196 | 196 [ 19.6 | 196 | 196 | 196 | 19.6 | 19.6]| 19.6
RNV kdf.cm | 15.8| 19.0| 20.2 | 31.6 | 30.6 | 47.2| 47.4 | 59.3| 71.2 | 854 | 85.7 | 107 | 129 | 154 | 171 | 200 | 200 | 200 | 200 | 200 | 200 | 200 | 200| 200

ﬁﬁ EE_% rimin | 600 | 500 | 360 | 300 | 240 | 200 | 180 | 144 [ 120 [100 | 90 | 72 |60 |50 |45 |36 |30 |24 [20 |18 |15 [12 |10 | 9

Bk P Nom | 1.35| 1.62| 2.25| 2.70 | 3.37 | 4.04 | 4.05 | 5.06 | 6.07 [ 7.29 | 7.32 | 9.15 | 11.0 | 13.2 | 14.6 | 18.3 [ 19.6 | 19.6 | 19.6 [ 19.6 | 19.6 | 19.6 | 19.6| 19.6
REE POV 7 kdf.cm | 13.8| 16.5| 23.0 | 27.6 [ 34.4 [ 41.2| 41.3 | 516 | 61.9 [ 74.4 | 74.7| 93.4 | 112| 135 | 149 | 187 | 200 | 200 | 200 | 200 | 200 | 200 | 200 | 200
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51K120A-AF| 51IK120GU-AF | 120 | 1ph110 50 4 ZE £ECONT 1350 | 1.80 | 0.90 9.00 0.65 6.50 25.0/250
51K120A-CF 51K120GU-CF | 120 | 1ph220 50 4 ZELECONT 1350 | 0.92 | 0.87 8.65 0.75 7.50 7.0/450
51K120A-SF| 51K120GU-SF | 120 | 3ph220 50 4 FEELECONT 1350 | 0.83 | 0.87 | 8.65 3.20 | 32.00 /
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P&V kgf.cm |18.4 |22.0 |30.6 |36.7 |45.8 |55.0 [55.0 |68.9 |82.7 |99.2 |99.2 [124 |149 |180 |199 |[200 |200 |200 |200 |[200 | 200 |200 | 200 | 200
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51K140A-AF| 51K140GU-AF | 140 | 1ph110 50 4 1% £ECONT 1350 2.10| 1.12 | 11.2 0.95 | 9.50 30/250
51K140A-CF| 51IK140GU-CF 140 1ph220 50 4 EEZECONT 1350 | 1.09 1.07 10.7 0.9 9.01 8.0/450
5IK140A-SF| 51K140GU-SF | 140 | 3ph220 50 4 % 4ECONT 1350 | 0.1 | 1.07 | 10.7 3.7 37.00 /
5IK140A-S.|5IK140GU-S.F| 140 3ph380 50 4 ZEZECONT 1350 | 0.52 0.87 8.65 3.20 32.00 /
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it b v kgf.cm | 18.4 [22.0 |30.6 | 36.7 |45.855.0| 55.0| 72 | 85 | 102 | 102 |127 | 152 | 216 | 216 | 216 [ 216 | 216 | 216 | 216 | 216 | 216 | 216 | 216
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BIK200A-AF | 6IKZ200GU-AF 200 1ph110 50 4 PE4ECONT 1350 3.20 2.40 17.2 1.83 1.65 40.0/250
61K200A-CF | 6IK200GU-CF 200 1ph220 50 4 ZELECONT 1350 | 1.56 | 2.40 17.2 1.83 1.33 12.0/450
6IK200A-S,F| 6IK200GU-S4F 200 3ph220 50 4 ZELECONT 1300 0.75 2.40 17.2 510 1.65 /
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61K250A-AF | 6IK250GU-AF 250 1ph110 50 4 PE£ECONT 1350 | 3.50 | 2.40 18.1 1.8 1.85 40.0/250
6IK250A-CF | 6I1K250GU-CF 250 1ph220 50 4 ZE ZECONT 1350 | 1.65 | 2.40 18.1 1.8 1.83 12.0/450
61K250A-S,F| 6IK250GU-S,F | 250 3ph220 50 4 %E £ECONT 1300 | 0.78 | 2.40 18.1 1:8 1.85 /
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